TR 3EE HyTHR
(1) #fE

(BN - M - %)

= i X » S0 3R SN2 R HERAE | HEIRER
- & = & 287, 456 203, 609 83, 847 41.2
IR R F 19, 545, 935 19, 257,464 | 288,471 1.5
& At 19, 833, 391 19,461,073 | 372,318 1.9

(2) —fesxit

A (B2 - T - %)

x5 A 34 A 2 A T
S| MERRHE | e | MRk

S ol O = E 146,988 | 51.1| 120,939| 59.4 26, 049 21.5
EOZ M & 92,306 | 32.1 53,406 | 26.2 38, 900 72.8
B’ X W & 48,053 | 16.7 28,601 | 14.0 19, 452 68. 0
i iEl 4 100 0.1 100 0.1 0 0.0
E I A 9 0.0 563 0.3 A 554 | A 98.4
= 5 287,456 | 100.0 | 203,609 [ 100.0 83, 847 41.2

ik (HAZ - TH - %)

% N SN 3 SN2 s | s

S| MERkHE | B | AERkEE

B = # 684 0.2 688 0.3 A4l AN 0.6
3 % # 69,257 | 24.1 71,206 | 35.0| A 1,949 A 2.7
R 4 # 184,696 | 64.3| 106,894 | 52.5 77, 802 72.8
] T # 32,519 | 11.3 24,521 | 12.0 7,998 32.6
E xS & 100 0.0 100 0.1 0 0.0
B fis # 200 0.1 200 0.1 0 0.0
& ) 287,456 | 100.0 | 203,609 [ 100.0 83, 847 41.2




(8) JrilefRBREF RIS

A (HA7 - T - %)
SR 3 N2 S
X ool MR HETRR
SR TR BHA TRk
1 59 BE | 4,412,746 | 22.6| 4,446,636 | 23.1 A 33,800 | A 0.8
Sy A K VA 4 | 2,895,095 | 14.8| 2,841,934 | 14.7 53, 161 1.9
i B & O F OBt 10 0.0 10 0.0 0 0
JE % M 4 | 4,073,044 | 20.8| 3,979,325 20.7 93, 719 2.4
XN B A AT FF 4 | 4,985,821 25.5| 4,946,806 | 25.7 39, 015 0.8
B X W 4 | 2,710,945 | 13.9| 2,695,982 | 14.0 14, 963 0.6
WooE I A 100 0.0 6 0.0 94 | 1,566.7
T A & 465, 382 2.4 343, 888 1.8 121, 494 35.3
i i & 2, 000 0.0 2, 000 0.0 0 0.0
B I A 792 0.0 877 0.0 A 85| A 9.7
= 3 19, 545,935 | 100.0 | 19, 257,464 | 100. 0 288, 471 1.5
ik (HA7 - T - %)
BN SRR SN2 R
X 53 MR HERER
S| TR BHR RERKEL
B % # 484, 107 2.5 467, 678 2.4 16, 429 3.5
B B % fF % | 17,786,643 | 91.0| 17,686,624 | 91.9 100, 019 0.6
Holk b2 ¥ | 1,212, 047 6.2 | 1,062,838 5.5 149, 209 14.0
7N f& 2 100 0.0 100 0.0 0 0.0
E X W & 58, 038 0.3 35, 224 0.2 22, 814 64. 8
¥ i #H 5,000 0.0 5,000 0.0 0 0.0
a & 19,545,935 | 100.0 | 19, 257,464 | 100.0 288, 471 1.5




